Elizabeth I revision.

You need to choose AT LEAST ONE task from EACH column. This will make sure that you have done some revision on each of the 3 units. You can of course choose
to do more - eg doing something from the factual revision row and then doing the exam question practice after to test using that knowledge.

Unit 1: Queen, Government
and Religion 1558-69

Unit 2: Challenges to Elizabeth
from home and abroad 1569-88

Unit 3: Elizabethan Society

Option 1: Choose
this option if you
think you need to
revise basic facts.

Make a set of revision cards. Put
these words/phrases on the
front and on the back, write
down 2/3 key points about each
one.

Privy Council
Parliament

Royal Prerogative

Local Government
William Cecil
Elizabeth's legitimacy
Elizabeth's finances
Middle Way

Act of Supremacy

10. Act of Uniformity

11. Vestments Controversy
12. Crucifix Controversy
13. Catholic Recusants

14. Threat from France and
Scotland
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Write down each of these
statements and then for each
statement write down one/two
pieces of evidence that backs it up.

1

The Revolt of the Northern
Earls had religious causes.

The Revolt of the Northern
Earls had some non-religious
causes.

The Revolt of the Northern
earls did not really threaten
Elizabeth.

The Ridolfi plot was a threat to
Elizabeth.

The Throckmorton plot led to an
act that made it easier to trap
MQSs.

The Babington Plot led to MQS
execution.

Relations between Spain and
Elizabeth got worse because of
events in the Netherlands.
Relations between Spain and
Elizabeth got worse because of
Elizabeth's actions.

Write down these statements and say whether each one is True
or False. If it is false, change the statement to make it true/say

why it is false.

1. Both rich and poor people went to watch cock fighting.

2. Tennis was played on an outdoor grass court.

3. A popular sport with poorer people was bowls.

4. Non-religious plays and rude comedies became popular in
theatres like the Rose in London.

5. Many Grammar schools were set up to educate bright boys
from well-off families in towns.

6. The literacy rates for both girls and boys increased from
10% at the start of the reign to 30% by the end.

7. At the start of Elizabeth's reign, the idle poor were whipped
or branded.

8. The 1572 Vagabonds Act imprisoned vagrants if they were
caught for a third time.

9. The 1576 Poor Relief Act aimed to help the able bodied poor
find work by giving them wool and raw materials to make
things to sell.

10. Damage to the supply ship The Tiger meant colonists in
Virginia did not have enough food.

11. The colony on Roanoke got on well with Chief Wingina.




Option 2: Choose
this option if you
have a reasonable
grasp of the main
facts and want to
start using/analysing
this knowledge -
which will also help
extend this
knowledge and get
you thinking more
deeply.

Make a list of the problems that
faced Elizabeth at the start of
her reign. Put these problems in
order from the biggest problem
to the least dangerous problem.
Justify the 3 you have put at
the top - why were they the
biggest problems?

Put these headings (MQS,
Walsingham, Catholic Nobles in
England, Spain, France, The Pope,

Revolt of the Northern Earls, plots,

Spanish Armada) on a big piece of
paper. Then draw arrows between
any of the headings that link and
explain how they are linked.

Draw 3 Venn diagrams. Use them fo compare sport, music and
dance and education for the different classes of people in

England.

Rich

Poor

Both

Option 3: Choose
this option if you
have a reasonable
grasp of the subject
knowledge and want
to practise tackling
the sorts of
questions you'll face
in the exam, but in a
way that will allow
you to use your
notes to continue to
develop your
knowledge.

Below are 3 reasons (the point)
why the possible catholic threat
to Elizabeth did not develop at
the start of her reign. For each
reason, write down the evidence
you would give (evidence) and
how this evidence meant there
was little threat (explain).

Reason 1: the attitude/actions
of the Catholic clergy in
England.

Reason 2: what happened in
Scotland.

Reason 3: The Pope's reaction

Write an explanation of why the
Armada failed.

Use all the following words in your

explanation: crescent formation,
Parma, Calais, fireships, storm,
Scotland, cannonballs,
manoeuvrability, Gravelines and
tactics.

Draw out/get a copy of the grid below and use it to explain why
there was an increase in poverty and vagabondage in Elizabethan

England.

Evplein wiy there wes en inerease In powerty end vegebandage in Elizabethon England

Mame Fopulation grewth

Froblems in The
clothiwool industry

Inflaticn

Changes in farming

The closue
[dissalution) of the
sonasteries

Diseribe
(evidenc)

how led




Option 4: Choose
this option if you
have a good grasp of
the topic/have
already revised it
and want to now test
what you can do in
exam conditions.

Do one of the questions below in
timed conditions. You have 18
minutes for a 12 mark question
and 24 minutes for a 16 mark
one. Hand in whatever you
manage in that time. Do NOT
use your book/notes to help you.

Explain why Puritans were
unhappy with the Elizabethan
religious settlement. You may
use the following in your answer:
* Middle Way
+  Vestments
You must also use information of
your own.
(12)

"The biggest challenge to
Elizabeth's authority between
1558 and 1569 were the Catholic
nobles” How far do you agree
with this statement? (16) You
may use the following in your
answer:

¢ The Revolt of the

Northern Earls

+ Parliament
You must also use information of
your own.
(16)

Do one of the questions below in
timed conditions. You have 18
minutes for a 12 mark question and
24 minutes for a 16 mark one. Hand
in whatever you manage in that time.
Do NOT use your book/notes to help
you.

Explain why relations between Spain
and England deteriorated (got
worse) between 1569 and 1585. You
may use the following in your
answer:

*  Francis Drake

+ Events in the Netherlands
You must also use information of
your own.
(12)

"English tactics were the main
reason why the Spanish Armada
failed” How far do you agree with
this statement? (16) You may use
the following in your answer:

« fireships

* the Spanish plan
You must also use information of
your own.
(16)

Do one of the questions below in timed conditions. You have 18
minutes for a 12 mark question and 24 minutes for a 16 mark
one. Hand in whatever you manage in that time. Do NOT use your
book/notes to help you.

Explain why there was an increase in the problem of
vagabondage in Elizabethan England. You may use the following in
your answer:

+  Sheep farming

* Rising prices
You must also use information of your own.
(12)

Explain why voyages of exploration were undertaken during
Elizabeth's reign. You may use the following in your answer:
+ Developing trade
*  Anglo-Spanish relations
You must also use information of your own.
(12)

"Poor planning was the main reason why the colony in Virginia
failed” How far do you agree with this statement? (16) You may
use the following in your answer:

*  Poor choice of the colonists

* Reaction of the Indian tribes
You must also use information of your own.
(16)




